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Let A = Doty { the word NEW JERSED ;
.
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a. AUB b. BuC c AUBNBUO
d. (A v By e. A~B f BuoAnC
HA={r:xeWand 4 <y < N.B=ir:seNandd<x<8

C = {natural numbers less than 5], find

a. AuB b. AnB ¢. Au(Bu()

e. AuBuC . AnBA~C

-

ey
e
w

IfU=1{1.2 3 4. 10, A={1,35 79 B T =% = N
C = imultuples of 3 less than 10, D=fx. x* - 19¢ «

a AuB b. BuC c. CuD
. AnB . BnC g. B-C

|+ ol -
o

IfA=1(1,234.5 6. B= imultiples of 2 less than 106 wed ¢ - -

and B: 3L > o1 «
show that ‘
nLA-BulO=@QA-Bn (A-0C) b.

A~BAO=(A-B L@ e
. AnBNO=(ANBAC VA~

If A = {even numbers Jess than or equal to . B=(1 2 2 =~ n

then venfy that TS LN and C =) 8 1
“AVBAAUO=AUBAO b wABL, O =A~ABLC
IfU=11,23,4.56789 A= 13,56 and B = to a « AB UG
a. (AUuBY=A'AR b B
HU={1,23 ...18. A= imultiples of 2

a. AuBr=A"AR
If n(A) = 20, n(B) = 18 and n(A UB) =

If n{U) = 33, n(A - B) = 15, 0B - Ay = 10 and n(A -~ B==
A Al ! y = :j’
a. nAuB)=30 b. a(Ay = 15

Lothen vermfy oh 1
A-' A BN -
ANBy= A w B

and B = im

P

II:,‘r"‘; s 'y 3
sed Pl0s o V., & :
vies of 31, show that-

b. (A~ By = A- v B
30, find niA A B).

ﬁi‘.nw {hat .

set A, 7 elem 1
the sets A and B disjoint or Verlappin?t:lsl: sﬁfﬂ"ﬁ‘ g)elemems In set A (, B. Are
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